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an equivalent one with homogeneons hmuul-u‘v conditions (the boundary conditions
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5.1. Nonhomogeneous to homogeneous. Please study Lesson 6 in Farlow's
texthook, Consider the following nonhomogeneons general problem for a function
w0, L)% (0,T) =R

= Uy in (0, L) = (0,77,
w(a, 0) = uglx) for e [0, L].
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where ug : [0 L] = B, g2 0 (0.T) = B, a2, 512 B nircl given data.

Under the technical assumption Legos + aq /g2 — a2 # 0, discuss how to turn it into
an equivalent one with homogeneonus boundary conditions (the boundary o
correspond to the last two equations).
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5.1. Nonhomogeneous to homogeneous. Please study Lesson 6 in Farlow’s
texthook. Consider the following nonhomogeneous general problem for a function
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